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% Laurent Series and sequences

function plotseqL(m=1, pl=2, p2=2.1)

& N2 >— 1 & n] < n2)
opP£ 1o P P4

&
-1

’

=1
-m:

oy

n
tip O m;
tl = [t1ln, t1p];

fl = [zeros(1,m), ((1/p2).”(t1p+1) - (1/p1).”(tlp+1))];
f2 =[((1/pl).~(t1n+1) -(1/p2).~(t1n+1)), zeros(1,m+1)];

f3 =[(1/pl).~(t1ln+1), (1/p2)."~(t1lp+1)];

andif
T

f(pl <=L &&p2Z <=1 &&pl <p2)
tln = -m: O;

tlp=+1: m;
t1 =[tin, tlpl;

fl = [zeros(1,m+1), ((1/p2).”(t1lp-1) - (1/pl)."(t1p-1))];

R=1t{(/pI)A(tIn-1)=(1/p2)"(tIn-1)), zeros{ImT;

f3 = [(1/p1).”~(t1n-1), (1/p2).” (t1p-1)];

endif

subplot(3, 1, 1);

ctFoarm (1 £1 )

+
STt 17/,

grid on

%axis([0, m])
title(sprintf("f1 m=%d pl=%g p2=%g", m, pl, p2))

cuhplnf(?, 1 2);

stem(tl, f2);

gridon
%axis([0, m])

title(sprintf("f2 m=%d pl1=%g p2=%g", m, pl, p2))

subplot(3, 1, 3);

ctam(+l ).

STt 197/,

grid on

Y%oaxis({0, m])
title(sprintf("f3 m=%d pl=%g p2=%g", m, pl, p2))

endfunction




% z-Transform andéeq%l—ene%—
function plotseq2(m=1, pl=2, p2=2.1)

cla;

zeros(L,m), ({(pl). " (tlp+1) - (p2).” (tlp+1))};
(p2).7(tln+1) -(p1).”~(t1n+1)), zeros(1,m+1)];

(
(p2).7(t1n+1), (p1).”(t1p+1)];

(12

if(pl>=1&&p2>=1&&pl<p2)
tln =-m: O;

tlp=+1: m;
tl = [tln, tlp];

X1 = [zeros(1,m+1), ((pl).~(tlp-1) -
( ) N
\ ]

X2 = [{{p2)-2{tIn-1) ~(p1)-2(tln-1)), zeros(L,m)}:
X3 = [(p2).”(t1n-1), (p1).~(t1lp-1)];

endif

subplot(3, 1, 1);
stem(tl, X1);

grid-on
%axis([0, m])

title(sprintf("X1 m=%d pl1=%g p2=%g", m, pl, p2))

subplot(3, 1, 2);

<ctem(t1l X))

GQCCTTIVC4L,7\4 7/,

grid on

%axis([0, m])
title(sprintf("X2 m=%d pl=%g p2=%g", m, pl, p2))

subplot(3, 1, 3);
stem(tl, X3);

grid-on
%axis([0, m])

title(sprintf("X3 m=%d p1=%g p2=%g", m, p1, p2))

endfunction
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